Model No.:

i
<
o0
@\
2
=
1
<
(@]
o)
O
=
0
g
(@
&
—v{
=
L

103.09.10




Model No.:
Air Impact Wrench FW-828XLL

Pacole

MODEL FW-828XL Air Impact Wrench

INDEX

PART NO.

DESCRIPTION

PART NO.

DESCRIPTION

B828001110240

MOTOR HOUSING

B828067770000

DUST COVER

B828034110240

END CAP

B828002620100

VALVE SLEEVE

B828035000000

END CAP GASKET

B828003310100

REVERSE VALVE

B826102000000

'B826143000000

B828017200100

'B828037000000

HEX. SOCKET BOLT (S:W 1/4"-L25)
SPRING WASHER
ANVIL BUSHING
OIL SEAL (5:d40-D52*6t))

B828014150100

B815129000000

B828119800000

8828028000000

LEVER REVERSE
SPRING PIN (S:@3-L18)
O-RING (S:d19-@3.5)
BALL BEARING (S:6005)

B828038200110

MUFFLE STEEL COVER

B828027310100

FRONT END PLATE

B811106001000

PHILLIPS PAN SCREW (S:M3.5*L10)

B858131000000

SPRING PIN (5:06-L18)

B828032110240

CLUTCH HOUSING

B828024310100

CYLINDER

B828031000000

'B828103000000

FORNT GASKET
HEX. SOCKET BOLT (S:W 5/16"-L30)

B828025220100

B828026700000

ROTOR
ROTOR FAN

B858143000000

SPRING WASHER

B828029310100

REAR END PLATE

B828105000000

HEX. SOCKET BOLT (S:PT1/8"-L8)

B828131000000

SPRING PIN (S:26-124)

B828041110240

HANDLE DEAD

B828019200100

HAMMER CAGE

B828109200110 HEX. SOCKET BOLT (S:3/4™*16UNF*L32)

'B828004310000
'B828005000000

B828006620100

TRIGGER
TRIGGER PIN (S:@5*L32)
THROTTLE BUSHING

B828057210100
B828020220100

B828021220100

B828022220100

"~ HAMMER CAGE WASHER |
HAMMER PIN (S:d12.7-D17.4-L93)
HAMMER DOG

DRIVE CAM

B828007200100

THROTTLE PIN

B828018224110

ANVIL 8" (321mm)

B811117800000

O-RING (5:d8.2-@2)

B828018223110

ANVIL 6" (268mm)

B828054620100

RETAINER

B828018220110

ANVIL 2" (163mm)

B828009280000

COMPRESSION SPRING

B828063220100

BUSHING FLANGE

B828053620000

SCREEN

B828016210100

ANVIL WASHER (S:d25*@3.53)

B828010200110

HOSE FITTING (PT1/2"-14T)

B858121800000

O-RING (5:d17.6-@2.8)

B828010201110

HOSE FITTING (BSP-14NC)

B858066280000

ANVIL COLLAR

B867118800000

O-RING (5:d21.8-@2.4 (P22))

B867119800000

O-RING (5:d15.8-02.4 (P16))

103.09.10




